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Thanksgiving Subtraction

Solve the following word problems.

Tom has 5 pumpkins for Thanksgiving. He gave 2
to his neighbor. How many pumpkins does Tom
have now?

Sally baked 5 pies for Thanksgiving. After dinner,
there were 3 pies left. How many pies did her
family eat?

There were 5 potatoes. Mom used all for the
mashed potatoes. How many potatoes are left?

John has 4 Thanksgiving decorations. He gave 1 to
his friend. How many decorations does John have
left?

Mary had 5 apples for her Thanksgiving apple pie.
She used 1 for the pie. How many apples does she
have left?

Lucy had 5 cranberries. She ate none at the
Thanksgiving dinner. How many cranberries does
she have left?

Ela found 5 feathers from the Thanksgiving turkey.
She gave 4 to her brother. How many feathers
does Lucy have now?

There were 4 pumpkin pies at the Thanksgiving
dinner. After dinner, there was 1 pie left. How many
pies were eaten?
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